
��������������	���
���
��
��� ���������������������� !��"�#�$%
&'��(�)�*(�))

��+�,������
	����-+./0�1�2����2�


���34$���5����#6&��7����86�%'7��1���%$���+�96�$':
��������� �	
	��
	��	����
�
��	�����
	��������
��
��
� �
����������� !"#� ��$�����%&'(����%(��������)(*&��"!#��+(�����*,�� ,&� &,-� (��,�!��-"-�.,�!�����)(��

� �,�"/(��"�"/
�',�������� !"#� ��$������0��11�� �,�"/(��"����2�3��
4��
	���
����� (, ��$�����.(��� ��� �,�"/(��"��
�',�������� (,� ��$������0��11��5	�	�6��������2�3�����7	�8�7	�	�%��4���4��9���
%,��:� ��$������	
�5	�
	

�.(,�-'��;���)�&)�"#� ��$�����/	��
	�%�
�
���4	
'� ��(.,�"(����� ��$�������3�1��

'�42<�
5�
��5	7��=�	���	
8�=�
8�=�<��8�=��9�	<2
�(,>��.,(



(+?)���"/�,�� �,!� !���(%��� &

.�
��<�	����@A5���=��
B�
�
��
	�=���5	����.����452��%2����	
�9���$
%&'(���%(��������)(*&��"!#��+(�����*,�� ,&� &,-� (��,�!��-"-�.,�!����)(���� �,�"/(��"�"/�.,�!
&)3���()��#����
�=�	���	
�9���=�
�
��
.&��>���,��%�&,(�.,(#�� ?�����)2@��
��
�
"6	�	45��8�584	��@��452�$
�
%&'(���%(��������)(*&��"!#��+(�����*,�� ,&� &,-� (��,�!��-"-�.,�!����)(���� �,�"/(��"�"/�.,�!
&)3���()��#����
��
��B
42�
��
78<��5	
�<�
	����
�6
����5
���B���@���4��	�C	�5����=�	
2�����D���
�@�	E���	
�
�=��@2���	<��00�<�3
�	�5���
���=����452�����D�@���4�������C2
4�8�
����
	����
�6
���=�
�=2�
�
	�
���
�5�	�8��
52�

�����@��458�<	7���	��6�5�452�8�$�����
��4	�
7	�4����5��	4��
	������8��4��
��
	�F<�������9���
�
���@���4	�
�=�74��6�85	<������
	��=���@���4��<���	���=���	�
�
�	��A���=	���8�6�
4	
	��
	��D����
�
��B���	
�
�=�
�@2���B���5
���B�8�6�4����2�B�8�6�
�
��8<�
	9��=��	���	
��<���������
4A���=�
�@2���D�����
@2���
�D����5
���B�8�6�25�	��
�
8�6����FE����6��4��5���
�����<2�4�3
&�852��	
���=����45��	
8�6��@��45A��
	�5���
����
���58����=�4	
	
��
	��8�2
4	�6
�
�'	
��5��6
��

�$
.�
�@2���D�
	���8���
=��
BE�����52�
��'��=�7���
���
	���5
���B�8<�4	
	���'���1����45A����
	�5B=��
<�	
	�4���2
42
=�
�=78�2�F���4A���=	���8�63����52�
��'��=�
����
�	
��=��7B�
�
�����5
3�4	
	72�'���1�=���	�
B��9��F���4���=	����

��8

8�@2�8
42��
4�783
���52�
�	�6�'����'��
	�5B=���7B�
�
������
	�2�@���4	3��	4�G�
�
���=�
�@2���8�
	�5B=�����52�
���

	�
�
���'���5
3�
	
4	
	������
�
��8<�'���113
���B�4	
	��
	��D����
�
��B�
	=����45��	
��
��2��'����1�58=�.H"�&I����J�K�4�L<���=�7B�
�
�	�6�4�����6��8�6�

2�
�
��4	<��92<��8<�3
,2�8�247	�	E�
	�=���8=���=�	�4�����9�2@�F�������<3
�5����	E��52�
��
4��4	
	��
	�8�
��58=����
��2��5�
�
��8�6�4	�@��	
8�6�
�..���F���
��8�1��<�M
=3�=���3��	N�
O���F���3
����<�
�4�D9A��@�5�
��8�63
�5����	E��7	
8����@��B��
�2�4�3�'��11����D�4���
�
	<4
�D���<�2�68�
�����89���8<���	��=2�5A�����
�
��8�63
.����452�����D$
4	
	7��
���1�<<����729�F������0�11�<
�52�
������11������
53
�52�
������11������
53���58<���4	�4	���	

	97D@��
��������������K�P����K�<�==53
.�7B�
�
�	�=����45��	
8�6�=�
����A��
���5
���B�8<���52�
��
4	<���84�
	E��	4���
�
��
���5��2�B����
��B
	
�	�=���2��
5	
�2���2@��

�����6	�	45��8�58���5��6
��

�����=���	�	�B�����8<	9	
��<�=���2��
5	��2�3
�	�5����	
���2�8���<	5���	78�<2�
B�=���	�	E���=�����
������58C�4	58���F��	���5�	���=2�
�
�
�	�����5����	
�	3��5����	E
<	5���	78�58�4��������4�	�����	4�F��3
,2�8�<�
5��	E�
	�=���8=���
�@	��
����@�
��2@�5�9��=�	�42�9�2@�F����	��5�8�9J1��1<�
�=��@����<��@2�5��

8<��2�8��
=�97D@��
��<�
	�
7B�
	�6�3��	��5�D���6��

B����@�8=4D��84�
	E�=�	�4��<���9�2@�F����	��5�8�9J�1�<�=�
	������
�6
�2�83�.���84�
	
�2�4	
	78�=���	E��=�	��
�
�2�=�	���7���F�����6�27���
�	�=���5���
����9����=�	
�������=��C��2��9��	
8�6

	�	�58�6����
DF����8�2
4������=�	���	
�	���	
��84�
	E�=�A@D��
�
��
�F����9��8<	9	G�.��������1L�11�3
.�
������	
��<�����4�=��	5	����4	
	7�=�
�=724	E��
8�5B����B�=�
8��
8@4�F���=�
�=78�2����5	5��

�������8=724	
�	
��
8�54��6�
	
���
8�
�
�G3
�8=�7
��
���=�	�4��<���4A7��2�8���=�	��4�
	9DF��E���@�	5���<�=785��8<M�1��1149O�����
�
����
���=78������@�	�8�
�����
���
��
��
�9��
	9D�
�
�
�	�=���@2��5��
	�6�4	
	72������JQKR3

�����

���<	�.,(������	��3��@�)���
��	$��1�0K���	�>���,



.,�"������ �,���%���4��=�
8����)(��5	�	�6����� ���-:���.,��'>��,?�

"8� ��;�&��� 
8$��$��3�$�<'%$� 5�9� ���<�< ��<'9
1&����=��$�'����1��-��+��2.��+2�����>�11����#�&3���%$&��%'?

� 
�2�"�+�-���,�1+-+
�����-�@�*A�!�*���(
��� ��#�&3�<$'9%'����-�@�*A��������
�

�3�3
�

�B

�
�!�������A�
�!���

���,�@3�
��<
��=��
����<��6	
�
	���47	��4	5�����
��@�8=4B <�5�

��130 <�5� ��13011
��+�� �*�� ��

�
�3�3
�

�B

�
�!�������(�
�����

���,�@3�
��<
��=��
����<��6	
3�
��8��
�<�4	5�����
��@�8=4B <�5�

��3Q <�5� ��3Q11
��+�� *A����

�
�3�3
�

�B

�
�!�������(�
�����

���,�@3�
��<
��=��
����<��6	
3�
��8��
�<�4	5��������52�
�� <�5�

� <�5� �3111
��+�� *����

��� 1$'�$�$��<#��5'%$'��-�@�*A�!�*���(
�

�3�3
�


22��2��*�
�!��)������

�	
	7�
��2��4	
	��
	�8�
8�6�.H"�C����1�7B�
�
8�
	�����4����84�=���2<��
���

8<

<�5�

�3��S�3�� <�5� �3Q11
�Q3�S�Q3� <�5� �Q3111

��+�� *A����
�

�3�3
�


22��2��*�
�!��)��*���

�	
	7�
��2��4	
	��
	�8�
8�6�.H"�C����1��7B�
�
8�
	�����4����84�=���2<��
���

8<

<�5�

0131 <�5� 013111
��+��  �����

�
�3�3
�


22��2��*�
�!���������

>�
5	��5�A�
�4	�.H"�4	
	��
	�8�
�9��
��
D5�

�9��7B�
�
�9��
	�����4�C����1
<<

�
5

�	�4	�	��11L�11
� �
5 �3111

��+�� �����
0

�3�3
�


22��2��*�
�!���������

>�
5	��5�A�
�4	�����7���9��.H"�4	
	��
	�8�
�9��
��
D5�

�9��7B�
�
�9��
	
����4�C����1T��

�
5

���F�������
	�2��11L��
�1 �
5 �13111

��+�� ������
K

�3�3
�


22��2��*�
�!���������

>�
5	��4��	
	�.H"�4	
	��
	�8�
�9��
��
D5�

�9��7B�
�
�9��
	�����4�C����1
���84�=���2<��
��
8<

�
5

�	�4	�	
� �
5 �3111
���F�������
	�2
� �
5 �3111

��+�� !����
Q

�3�3
�


22��2��*�
�!���������

>�
5	��4�
5	75�4�.H"�4	
	��
	�8�
8�6�
��
D5�

8�6�7	�
�
8�6�
	�����4�C����1

�D�4	���1L��

�
5

�� �
5 ��3111
��+�� ������

�1
�3�3
�


22��2����
�*��(��A���

�52�
��
4	�4	
	��
	�8�
	�
�5���
8���
52�

8�6�C���11L�
��1L�
��1��/J���1 �
5

'�
� �
5 �3111

��+�� �����
��
�3�3
�


22��2����
�*��(��A���

�52�
��
4	�4	
	��
	�8�
	�
�5���
8���
52�

8�6�C���11L�
��1L�
��1��/J���K1
<<

�
5

'�
� �
5 �3111

��+�� �����
��
�3�3
�


22��2����
�*��(��A���

�52�
��
4	�4	
	��
	�8�
	�
�5���
8���
52�

8�6�C���11L�
��1L�
��1�
�4	�4	�U
/J���1�<<

�
5

'�
� �
5 �3111

��+�� �����
��
�3�3
�


22��2��*�
�*��!��!���

�52�
�	�����
8�
	�
�4�D9A��@�5�
��8�6�C����11�97D@�4�F�����<����7	
�58=���D�4�

�
	<4
�D���<

�
5

�����

���<	�.,(������	��3��@�)���
��	$��1�0K���	�>���,



.,�"������ �,���%���4��=�
8����)(��5	�	�6����� ���-:���.,��'>��,?�

"8� ��;�&��� 
8$��$��3�$�<'%$� 5�9� ���<�< ��<'9
'�
� �
5 �3111

��+�� �����
��
�3�3
�


22��2��*�
�*��!��*���

�52�
�	�����
8�
	�
�4�D9A��@�5�
��8�6�C����11���
	�4	����1���<��A�
��8�97D@��
4�F��

�
5

�� �
5 ��3111
��+�� ������

��
�3�3
�


22��2��*�
�*�!�������

%2�����������<�
58�@�5�
�����������<��
�@�5�
2�%��1����8��@��
���4�
�5���
	�
@�5�
��	
����5���A�3

<�

� <� �3111
��+�� �����

��
�3�3
�


22��2����
�A���������

>�
5	��4�
�5�24������
=�D5�F�����1�<�=������
�G��2����B9A����4	
	7A� 4<=�

�	
	7���
� 4<=� �3111

��+�� �����
��! 1$'�$�$��<#��5'%$'���$%%'���#�&3���-�@�*A�!�*���(
�0
�3�3
�


2���� ����
����(���C

������
����5���A��5��6���	<�
5��B��11�<<���@�5�
���
@���3 <�5�

13� <�5� 13�11
��+�� ��(��

�K
�3�3
�


22��2��*�
�*�� ��!���

�
	��9�	���.�
��F����=�
�
�F��	
8�4�<��8�9�2@�F����1��<���	��2��.�"��2@�.�
.��C����1

�
5

� �
5 �3111
��+�� A����

�Q
�3�3
�


22��2��*�
�*�!�������

%2�����������<�
58�@�5�
�����������<��
�@�5�
2�%��1����8��@��
���4�
�5���
	�
@�5�
��	
����5���A�3

<�

� <� �3111
��+�� �����

�1
�3�3
�


22��2��*�
�(�����!���

.�A@	��
�
��
�F���4	
	7A���2���8�6�C����1���1�M�729�FE��1�<O �
5

� �
5 �3111
��+�� �����

��
�3�3
�


22��2��*�
�(�����!���

�
	��9�	���=724	
�������� �
5

� �
5 �3111
��+�� �����

� ,��2�D���-�@�*A����*���
��� ��#�&3�<$'9%'���-�@�*A��������
��
�3�3
�

�B

�
�!�������(�
�����

���,�@3�
��<
��=��
����<��6	
�
��8��
�<�4	5�����
��@�8=4B <�5�

��1 <�5� ��13111
��+�� !(�����

��� ,�'%�E��-�@�*A����*���
��
�3�3
�


22��2����
� ��!������

&7���
������
	�2�
��2��
�5���
8���
52�

8�6���
���2�C���� <�5�

�131T�� <�5� ��13111
��+�� !(�����

��
�3�3
�

��� �����(�
�����

�
	��9�	����8=�7
��
�	�5��6
��

���27���
���9��54	
�
8�
	��
�����F��	
	�6��8�
4�=2

<�

��1TM13�S13�S13�S13�S13�O <� Q0�3111
��+�� � �����

��
�3�3
�


22��2��*�
�!���������

����4�.H"���	��2�����
	���8�6�
	�����4�C���������84�=���2<��
��
8< �
5

�� �
5 ��3111
��+�� ������

��
�3�3
�


22��2����
�*���������

�84�
	
���
7��	�C��5�	�8�
�9��4�2�
8���=724	
� <�

.���8=4	�
��@�8=4B��2�8����<<
��1T13�T13�� <� K�3111

��+�� )�����

�����

���<	�.,(������	��3��@�)���
��	$��1�0K���	�>���,


